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FINANCIAL  OPERATION

EX1: INVEST today 1000 euro to receive in 2 years 1200 euro; graphic representation:
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EX2: BORROW today 1000 euro, and pay 500 euro in one year and 600 euro in 2 years; flow-deadline
representation:
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EX3: Consider the rule of simple interest. If today we invest 2000 euro at an interest rate (annual) of
10%=0.1, then in 3 years we will receive

V() = w(o)(4+4L3) -
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i_m is equivalent to i if, when applied to the same initial value for the same period of time, they produce
the same final value.
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